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133 149 INPUT
=1 INoo ouTo0 [—
132 148 CK ;SYSTEM CLOCK
=1 inot ouTo1 [—
131 IN02 ouTo? 147 CKD ;CLOCK FOR €SO0, CS1, CS2, SADD, SDAT
130 N3 0UT03 146 CKS ;CLOCK FOR SAMPLE AND HOLD CIRCUIT IN OUT1
129 145 CKX ;TIMING FOR SERIAL CONTROL EXECUTION
= INos ouTo4 [—
128 144 CS0, CS1, CS2
21 iNos ouTOS5 [—
127 143 ;CHIP SELECT
= INo6 ouTo6 [—
126 138 CTIM ;COLOR TIMING SPECIFIED
“Hinor ouTo7 [—
125 137 DT11. DT2I
21 inos ouTos [—
124 NGO 0UT09 136 ;SAMPLE PULSE FOR SAMPLE AND HOLD CIRCUIT IN OUT1, OUT2
123 INOA OUTOA 135 EN1, EN2 ;NAMADD1, NAMADD2 CIRCUIT ENABLE (IN COUNTER MODE)
122 134 INOO-INOB, INTO-IN1B, IN20-IN2B, IN30-IN3B, IN40-IN4B
== INoB ouToB [—
3 28 ;iDATA INPUTS
-] IN1O OUT1077 LD1, LD2 ;NAMADD1, NAMADD2 CICUIT LOAD PIN (IN COUNTER MODE)
1591 INT1 ouT11 26 OEO, OE1, OE2, OE3
158 IN12 ouT12 s ;OUTPUT ENABLE FOR QUTO, OUT1, OUT2, OUT3
1571 IN13 ouT13 22 SADD ;SERIAL ADDRESS
1561 IN14 ouT14 m RST ;POWER RESET
1551 IN15 ouT15 22 TN IN ; TEST TERMINAL
>Linte ouT16 -
154 17
ks ouTI7 |- OUTPUT
1521 INT8 ouT18 s DT1Y0, DT1CO, DT20
1511 IN19 ouT19 m ; SAMPLE PULSE OUTPUT
1501 INTA OUT1A s OUT00-0UTOB, OUT10-0UT1B, OUT20-0UT2B, OUT30-0UT3B
— IN1B OUT1B |— :DATA OUTPUTS
31 70 TSTO ; TEST TERMINAL
“tinzo ouT20 [—
801 e out21 |22
29 68 INPUT/OUTPUT
2|22 OUTZZGT  spaT SERIAL DATA
~“1{in2s ouT23 [——
11 66
—{in2e ouT24|—
10 65
— IN25 ouT2s [—
9 58
— IN26 ouT26 |—
8 57
— IN27 ouT27 [~
7 56
—{in2s ouT2s |—
6 55
— IN29 ouT29 [
5 54
1 IN2a ouT2A |
4 53
— IN28 ouT28 [~
45 110
4 inso ouT30 [—
44 109
I3t ouTal [—
43 108
21 ins2 outs2 |—
42 107
—— N33 ouTasf—
39 106
= IN3s ouTa4 [—
38 105
=IN35 ouTas [—
37 104
LR ouT36 [—
36 98
=1 INs7 ouTa7 [—
35 97
21 inss ouT38 [—
34 96
1 INs9 ouT3e [—
33 95
221 insa ouT3A|—
32 94
=1 InsB ouT3B [—
75 92
21 INgo oTIvO [—
74 91
—1IN41 DT1C0 [—
73 93
1 INg2 pT20 [—
72
—INa3 76
AR T o K
52 0E1 [
221 INa5 78
51 o2 [~
> ing6 79
50 0E3 [-—
> INa7
49 82
1 ings DT e
48 83
== INag oT21 [—
478 Naa 88
46 ™ INf— gl
= InaB 118 15
78TO [— w
17 &
cTIM 8
102 <
1 [N
112 S
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